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Al 1,680
01 AP 22| H| 2,100 1,500 600
Osial #2Asta 22l 08 B2 2,100
= 420
Al 1,680
301 et M= 1,680 1,680 0
< 336
Al 1,344
01 AMFSIEXEE 4562 1,200 1,200 0
OZ2sHa X M XS 1,200
= 240
Al 960
12 JIEtE2 A= 480 480 0
O ZsB2AAMN BABE 4+ 480
= 9%
Al 384
307 2I2+0 & 10,325 10,271 54
= 2,975
Al 7,350
05 QIZtREZ 10,325 10,271 54
OZ#sEI R20IS AN 8,050
< 1,610
Al 6,440
Ostw L ZsH A ZJ|1gA 2,275
= 1,365
Al 910
2otZH AU ALY 49,724 26,040 23,684
b 24,863
= 3,252
Al 21,609
101 21 214| 17,200 0 17,200
J| 8,600
Al 8,600
04 JIZtHIZ22XNSES 17,200 0 17,200
OZHst T 22X J2HHM22X 24 (6He) 17,200
J| 8,600
Al 8,600
201 gEt24y| 1,000 2,000 A 1,000
Dl 500
= 100
Al 400
01 AP 22| H| 1,000 2,000 A 1,000
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Kio

Hl w

A 408

A 408

6,960

6,960

2,432

2,432

8,652

10,000

H3r
Wikd
RIS

2,038

2,038

17,922

17,922

2,580

2,580

1,348

Off &t 24

1,000
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J|
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400
1,630
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Al
Il
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1,630
1,630

H

Al
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652
24,882

I

Al

12,442
2,488
9,962

24,882

Jl

H

Al

2,158

1,080
215
863

7,458

3,729

J|
Al
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13,708
6,854
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J|
Al
Il
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623

5,012
2,506

I

Al
Il

501
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2,506

H
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A EAA
Bu: AYET
Sl 2y SHAAMN 7S CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Pl 5,000
= 2,500
Al 2,500
03 Al HH| 10,000 0 10,000
OMEHI Yl AR &4 10,000
Jl 5,000
= 2,500
Al 2,500
DNAAEZ A A"E2HE HEES 5,976 0 5,976
J| 2,988
& 1,016
Al 1,972
301 et M= 5,976 0 5,976
J| 2,988
=} 1,016
Al 1,972
01 Al E&E A %52 5,976 0 5,976
O1HE ha A" 20 ot 5,976
J| 2,988
& 1,016
Al 1,972
ZMETRAAHE SZS A (ME SOC XS 2,400,000 0 2,400,000
J| 1,033,313
& 172,219
Al 1,194,468
HUMETALE SHEAIS (ME SOC = 2,400,000 0 2,400,000
J| 1,033,313
= 172,219
Al 1,194,468
403 XX SHHS K201 & 2,400,000 0 2,400,000
J| 1,033,313
== 172,219
Al 1,194,468
02 BI2SHUSXAN2ERAEAIS Y 2,400,000 0 2,400,000
OALMETAME Al=(MESOCE 1,377,750
J| 1,033,313
= 172,219
Al 172,218
OALMETAMEH Al=S(ME 1,022,250
O| ok 22| 57,900 5,500 52,400
Jl 2,900
Al 55,000
ojokt A oFM 22| A5 57,900 5,500 52,400
J| 2,900
Al 55,000
ojokH A 2| 2,500 1,000 1,500
202 044 500 500 0




2N

CEIPS
ZE: ojfE B
CHRl: oA A otX™Zte| 235 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 2L I 500 500 0
OoatAd2 =0 H| 500
301 dEtE M= 500 500 0
12 JIEtE A= 500 500 0
O9aEH FoNNTZAZ 100,000& = 5A 500
401 Al HI L 204 HI 1,500 0 1,500
01 Al&H| 1,500 0 1,500
O 2|12 MIZAESKNE MICH AEXAL
=29 1,500
XNE Musdss 928 291 2,000 2,000 0
J| 1,400
Al 600
201 et d| 2,000 2,000 0
J| 1,400
Al 600
01 AP 2t 2| bl 2,000 2,000 0
OMHE & s 248 94| 2,000
J| 1,400
Al 600
NEME=AH)| B2 A 3,000 2,500 500
J| 1,500
Al 1,500
405 XHAHF S HI 3,000 2,500 500
J| 1,500
Al 1,500
01 XAt 2 EF S| 3,000 2,500 500
OXNsSHAHMESI 2 3,000
J| 1,500
Al 1,500
SSEX 0l X 50,400 0 50,400
301 et A =2 50,400 0 50,400
01 Al B & A 46 2 50,400 0 50,400
S=&8A 0l 280,0008 » 180%™ 50,400
HES2ABH(BEHA) 889,206 892,308 N 3,102
= 91,553
J| 359,232
=3 54,447
Al 383,974
ol =2HH| 828,814 831,916 N 3,102
= 91,553
J| 359,232
=3 54,447
Al 323,582
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A EAA
HE: HYRIFH (2AL)
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
IHAIH(HEEESSHEH 29 X&) 33,956 25,820 8,136
J| 13,272
Al 20,684
101 @14 Hl 33,956 25,820 8,136
J| 13,272
Al 20,684
03 RIAHAZ 2 E =+ 33,956 25,820 8,136
OUEEE dusE 22X E= 26,544
J| 13,272
Al 13,272
OUgEs MU4sSE 222X E(AHH) 7,412
A2 (ZHRA) 35,360 32,900 2,460
J| 17,680
Al 17,680
101 @124l 35,360 32,900 2,460
J| 17,680
Al 17,680
03 RIHAZ 22+ 35,360 32,900 2,460
OZHQA 22X E= 35,360
J| 17,680
Al 17,680
OlARYH(SHAHLSTAY) 160,700 158,000 2,700
J| 80,350
= 16,070
Al 64,280
101 @124 dl 160,700 158,000 2,700
Jl| 80,350
= 16,070
Al 64,280
03 RIAHAZ 2B+ 160,700 158,000 2,700
OSEHLSIAMNY 22X E=(6Y) 160,700
J| 80,350
< 16,070
Al 64,280
QlARHH (HYREX R ALY) 35,836 23,463 12,373
J| 2,030
< 406
Al 33,400
101 @124l 35,836 23,463 12,373
J| 2,030
< 406
Al 33,400
03 RIAHA2ZZHE > 35,836 23,463 12,373
ORXEAMY 22T E= 4,060
Il 2,030
= 406
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2N
X ZH -
L= B

el

o 0% H
1Y 04 ¥
(O]
=
i
A
b

HO FO k-
02 08

=

s

H

It

0

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 1,624

OZXNEAAMY 22X E(XH) 31,776
g

HI (2Bt & AH0) 28,200 0 28,200
Il 14,100
2,820
Al 11,280

H

101 @128l 28,200 0 28,200
14,100

2,820
11,280

=z Hmn ¥

2= 28,200 0 28,200
oAt 22X 2= 28,200
Jl 14,100

2,820
11,280

= M

A AH(XGAME S SHXR) 70,000 38,000 32,000
Jl 35,000
7,000
Al 28,000

H

101 Q124 4] 70,000 38,000 32,000
Jl 35,000
7,000
Al 28,000

H

2ENES 70,000 38,000 32,000
cld 8 22X B 70,000

35,000
7,000
28,000

Z mnX

QIA2HHI (N HAIS S ATHEAIY) 33,513 0 33,513
16,756
3,352
13,405

= M W

101 1Al 33,513 0 33,513
16,756
3,352
13,405

= MW

03 RIHLZ 22 33,513 0 33,513
OXNS A2 SEMEAY 22X B 33,513
16,756

3,352
13,405

= W

ol (U222l 214Hl) 149,594 145,946 3,648
74,797
14,959
59,838

zZ W

101 Q124 4] 149,594 145,946 3,648
74,797

H
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A EAA
Ha: ¥HSYAH(2AL)
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 12,959
Al 59,838
03 RIAHAZZ2THE = 149,594 145,946 3,648
OAtellZel MERMAME 22X B4 (5Y) 149,594
=2 74,797
< 14,959
Al 59,838
QlARAH(XIHHA ME2Y X ) 246,000 375,000 A 129,000
J| 196,800
= 9,840
Al 39,360
101 @124l 246,000 375,000 A 129,000
J| 196,800
< 9,840
Al 39,360
03 I AHA2Z 2 HE > 246,000 375,000 A 129,000
OXIHetAHEH 221 B 246,000
J| 196,800
< 9,840
Al 39,360
OIARYH (B LEAHAX L SR Z AL 35,655 32,787 2,868
101 14 Hl 35,655 32,787 2,868
03 RIHA2ZRE S 35,655 32,787 2,868
OSUXBALY 220 PL(HFARY, 75
8) 35,655
=llag 1,437,170 * 18 * 123 17,247
o= 1,437,170& » 1F * 400% 5,749
cExgIRSE 50,000& = 1% = 128 600
oMATAHSH 100,000& » 1 = 128 1,200
ogsg 90,000& = 1¥ = 128 1,080
o Z A G A 120,000& = 1H = 123 1,440
= JHAH 2 =4l 80,000& = 1 = 128 960
oXEd 110,000& » 198 = 128 1,320
CIIExd 220,000& = 1H « 123 2,640
o ZE FOHI 1,437,170& = 18 * 120% 1,725
cHIIRSFIF=E 94,080 * 1% » 18¢ 1,694
Jl=&l 60,392 60,392 0
Jl223 60,392 60,392 0
201 Let24d] 48,896 48,896 0
01 At 22l 48,896 48,896 0
ORNEY Jl=ZHl 300,000& = 12& 3,600
OMREE FL(SAMX S) 250,0008 * 128 3,000
O#EHANRIII ARE 7¢
300,000& = 9CH = 23] 5,400
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A EAA
B #H2ABY (2AL)
@2 Jl2&tl
SA-EY .S (BH) - NEANY - BES 0 4t 04 il
Oszt&E Ao 2R & 30,000 = 504 » 12& 1,800
Oga Y 60,000& » 28 » 117 14,040
On =t 80,000 =* 28Y 2,240
OZ &l 8,000 * 28H * 7 * 12& 18,816
202 O B 4,656 4,656
01 2L Y] 3,000 3,000
Oflaz2f 2L 3,000
02 AN Y| 1,656 1,656
OMZEAHREZ A BAHAIEZIA HNWHI
138,000& * 1Y = 12& 1,656
203 ¥R =&H| 6,840 6,840
02 RIS R = XY 2,040 2,040
O&JAINNMERF=AH| 40,000& * 51 2,040
04 2SI L RF=AH| 4,800 4,800
ENSIHRF=EAY| 400,000& = 12& 4,800
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